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Calculators are NOT permitted.

Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE
TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. If the information printed on your answer sheet is not correct, please
inform the invigilator immediately.

4. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next to
each answer box. No mark will be given if you failed to follow this
instruction.

5. Unless otherwise specified, all answers must be in exact value and in
its simplest form. Writing the units for the answers is NOT necessary.

6. Rough-work sheets provided will be collected at the end of the contest
but they will not be marked.

7. Diagrams in this question booklet are not necessarily drawn to scale.
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) 13+7=2 [1%]
2) 28+17=7 [1%]
3) 13-9=27 [1%]
4)  33-15=9 [1%]
5)  17+25=2 [1%]
6) 20-3-8=2 [1%]
7)  34-23-4=9 [1%]
8) 12+4+26=72 [1%]
9) 23+10+19="2 [1%]
10) 23+25+17=2 [1%]
11) 18-16+25=2 [1%]
12) 40-23+33=2 [1%]
13) 35+42-23=7 [1%]
14) 28+32-36=2 [1%]
15) 53+21-26-19="7 [1%]
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16)  Fill in the appropriate “+” or “—* to make the calculation [2.0%]
valid. (Write only the symbols with the correct order on
the answer sheet)

RTHEXNELEEERN [+] 5 -] » EFEK
ESZ_LO ( AFRAFRIERFEEERR )

281 141 120013 =15

17)  Peter counts backward from 48 to 13. How many numbers ~ [2.1%]
does he count?

INBAER 48 BAtAREIEE] 13, HEH S MEE?

18) Find the missing number in the pattern. [2.2%)]

RIFMRE, HRHBERERIHF.

23, 2 ,15,11,7,
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19)  If each letter represents a number, find the value of B. [2.3%]

MRBEARXFERR—EHRF, K BHHE-

A+4=15
A+ B=25

20) People are queuing to bill out in a shop. There are 13 [2.4%]
people in front of Mandy and 18 people behind her. How
many people are queuing at the shop altogether?

APEBEEHFBGER. BEWES 1I3EA, Wit
S5E&E 1I8EAN. —HBEZ D ANEHBKERKR?
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21) The figures below are stacked with the same cubes j [2.5%]
What is the difference in the number of cubes used to
stack with in the two figures?

ZEMEERERGNESE [ #E8mHK. B
HEZ OMENE S

o f et e Em—  E——  e—— ——
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22) How many rectangles are there? [2.6%]

TE—#£F8ZMERAR?

¢ eme—  mmem o et e ¢ mme— e ¢ e ¢ e e ¢ e ¢ m—e— s m——

— o m—m b m—e—— 4 e—— —— . —— — =

——  mm— e ¢ e e ¢ e Eme e e mme— 0 mm—  —

23) 13 people joined a queue, then 16 people left the queue. If [2.7%]
there are 51 people in the queue now, how many people
were there originally?

B—ERKE, B 13 AMABKIE, BE 16 ABER.
MRBVEBSI AEREES, BRERBZ DA
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24)  The teacher asks her students to wear clothes in different [2.8%]
colours in Sports Day. The first wears pink, the second
wears purple, the third wears orange, the fourth wears
pink, the fifth wears purple, the sixth wears orange, and so
on. What colour is the 24" student wearing?

EMEKRBZERENEFFIARAERHNKRE. F—
EZFmile ”*_ﬂil %E’é ""_ﬂil PR, £
BZmie, FREFER, FRNEFEE, Wit
. F A EELEFEHFEBRNKER?

25) Arubber band is 4 cm long. Every time when Ken stretches [2.9%]
the rubber band, the rubber band extends by 3 cm and then
shrinks by 1 cm. When the rubber band 1s pulled over
12 cm, the rubber band will break. How many times can
Ken pull at most without breaking the rubber band?

—FEBREHR4ER. MEBRIUGEE . B
FHEER3IEKR, BIERE 1 EK. ERKEHH
PIENAEIE 12 [EREF, MG, EANAETRK A
HMRIR T, MNERBATIALS DIR?
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26) The picture below shows the pocket money of Sandy. If  [3.0%)]
each piece of milk biscuit is sold for $2.10, how many
milk biscuits can she buy at most using her pocket
money?

FRNENFRE. IRBRFTHE=-T—H,
AT AERSAUEFTEHES DIR?

7/

o e mm— o e—— o m—— o m—— —

N e eme— 1 em— f e—— i e—— =

27) Dad got a book with 100 pages. He reads 10 pages of the [3.1%]
book today, and each day he reads 5 more pages than the
previous day. How many pages will he read in total after
3 days?

BEE—KAI00EHE. SXEFTI0EH, 21D

B—XMELT—RZESH. IXEMHEFTSD
=
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28) How many C’s are equal to the weight of one A? [3.2%]

LB A WERSRSHE C MER?

o mm— —— ot m—— mm— 0 m—— mm— 0 m— e 0 e em— e b mm— e — 0 —— m——

e e e e e e e e e ¢ e e e e mme—  m— 0 ——

29) 3 years ago, Katy was 5 years old. Her brother is 3 years [3.3%]
younger than her. What is the sum of their ages after 20
years?

BEE3EMES K. MR BRLMN3 . 20 £, it
PIREFIE S 7
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30) A cookie shop had 63 Palmier cookies. After selling out
38 Palmier cookies in the morning, the baker made 10
more. The baker was too hungry and he ate some. There

are 28 Palmier cookies left. How many Palmier cookies
did the baker eat?

KEHIEIRA 63 IRMRER, L4 BT 3818, MEMX
T 103, AT, MEMMILFHRT, tMmizT —L&
BRURER . RIZRIT 28 IRMURER. SRR MMM T
B MR ER 25 /DR 7

[3.4%)]
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31) Mom has $32. Dad has $6. How much should Mom give  [4.0%]
to Dad, so they can have the same amount of money?

IBEEEE32T, EEHOL. BHEREEZ D
T B AS ERNEA FHERE?

32) What is the units digitof 1 +3+5+7+... +59+ 61 ? [4.1%]

1+3+5+7+...+59+61 BHEMES

P10
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33) Johnny is on the 9" floor of a building and he wants to go [4.2%]
to the 2" floor. If there are 12 steps between each floor,
how many steps does he have to walk?

PSEERER 042, hi8EF| 248, MEBES
12 AR . fh— 3Bk B AR

34) There are 30 days in September. If 15" September is [4.3%]
Wednesday, what day of week is 16 October of the same
year?

ABE3H. MRIOBISARER=, AER—
FH10 A 16 HREHi %"

P11




MathConceptition 2022

35) Based on the hints below, find the name of C. [4.4%]

RIBETFHRT, HEHAHNEF.

i 1. There are three people: A, B, and C. Each one of |
' them has a different name. |

! ﬁ$2ﬁ A mﬁmz;amx 1HE.

2. The names of the three people are Sara Larry and
' Ken |
I .

L SEANBFENE. MEFMR. I

I 3. Sara 1s not the name of A. |

. EMEFFRENE. |

| 4. The name of B is not Larry nor Sara. ,

: ZHZBFAZNE, BARBINE, :

36) The sum of two numbers is 18, and their difference is 6. [4.5%]
Find the larger number.

M{EZHIME 18, £2 6, HRHERAHE.

P12
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37) There are 6 children, and they shake hands with other [4.6%]
children once. How many times did they shake hands

altogether?
ﬁ&%ﬁ6@,ﬁkﬂm%—kﬁ$—ﬁ,%ﬁ
FE DR

38) Find the missing number in the pattern. [4.7%]

RIFARE, HHERENEF

o — e — o — o m—  mm— e —  mm— e e — f mm—  m——  ———

203=2+5=7

5©8=5+10=15
40203=803=13

SOV 1=_7

e e e mme— e e ¢ mme— e ¢ e f mme—  m——  ——

G e —

o e mm— o m—— s m—— m—— o — s —

P13
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39) 4 children queue in a line. How many different ways [4.8%]
can they line up?

M{E/NZAERESR . £BEZDMEARHETFE?

40) Find the missing number in the pattern. [4.9%]

RIFERE, RHER EREF.

3,9, 7 ,81,243,729, ...

End of paper
£E5T

P14
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